
Math 39100:April. 24. 2023.LECTURE 21

Exam 2: Monday, May) (starting from 3.5, ...)

am3:(optional) Friday, May 12

Time:4-5:15 pm

Room:Nac 11511

#EXAM:May, 18 from 3:30-5:45pm

Room:TBA

Lef:2(f(+)) =1*e.f(t)dt

eSsint3 =(est. sinet it cost) tisin

if ⑦
:it =cos(t) - isin(t)

e-
eit_it=2isin(t)

itsince

254'3 =se343 - y(0)



234"3 =52943 - sy(0) - y'(0)

Seart.

Sherates
v-r- z =0Esse23y" - y' - zy3 =2303 u =2, - 1

23y"3-234'3 -22547
=0 y =c

+xe

-

si2\y3-sy(0) -y'(0) - Ys2343 - y(0)) - 22143 =0

let2543 =y(s) Goal:Solve for
2543

siy(s) - so)
-

10)
- sY(x +y(0) - 24(s) =0
-

I I

S2Y(s) - 5 - s4(s) + 1 - 2Y(s) =0

Y(s)(52 - s - 2) =5 - 1

/
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Solving for A,
B:

=>S- 1 =A(s+1) +B(s- z)

5=-1: - 2
=-3B=

S =2:1 =A(x)=
y(s) =2 + acceptable if you don't

need tofind

thesolution.

since YCS=2343, thus,

2543 = +

to solve fory (thesolution) we apply inverse

Laplace Transform:

y =e5?
-23


